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11. What is the approximate probability that a chi-square random variable
with degree of freedom will be greater than one?
(@) 0.32  (b)0.48 (¢)0.5 (d) Notenough information given
(e) None of the above.

12. Given X is distributed according to the standard normal, which of the
following is true ?
(a) The mode i1s less than median (b) The median is less than the mean
(c) The mean is equal to the median (d) Not enough information given
(e) None of the above.

13. If x is a gamma random variable with parameter 2 and 3, then what is
P(x>-0.5)?
(@033 (b)1 (¢)0.67 (d)Notenough information given
(e) None of the above



14. The Exponential distribution is a special case of which distribution?
(@) ¥ (b)Normal (c)Uniform (d)Beta (e)None ofthe above
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3. Assume that the independent variable (constant) X and the dependent
variable (random variable) Y has the relationship Y, = g, + X +¢, Wwhere ¢

follows normal distribution with mean 0 and variance o*, and & and ¢,
are independent of any i=j. Give a set of data {(x,y,):i=12.34,5|
presented in the following table.

1 X Y
1 1 1
2 3 2
3 2 1
4 5 4
5 4 2

(a) Use the method of least squares to estimate g, and 3.
(b) Estimate <.
(©) ry=?



